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Basel Ill has introduced two new liquidity ratios and a set of liquidity risk monitoring
tools to measure a bank’s liquidity funding risks . Under Basel Ill, please answer the
following questions.
(- ) What are the two liquidity ratios? [4 4 ] Explain how these ratios are defined by
Basel Committee on Banking Supervision. [6 4 ]

(= ) Please list the five metrics to be used as consistent liquidity risk monitoring tools.
[15 ~ ]
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Under Basel lll, please answer the following questions.

(- ) What four capital ratios must depository institutions (Dis) calculate and monitor?
Explain how these ratios are defined and regulated by Basel Committee on
Banking Supervision. [15 4 ]

(= ) Basel lll introduced two additional capital buffers. Identify and explain how these
buffers are regulated by Basel Committee on Banking Supervision. [10 4 ]
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(=) F% h % 2 & & ;2 (Standardised Approach, SA) % £ # 4 & & ;2 (Alternative
Standardised Approach, ASA)= 43+ 5 322 £ 8 50 ? [6 4]



